Important: Enter your name and Neptun code to the comment field! Save the file as z1! 

1. Fulfill the following Boolean function!  

[image: image1.wmf]M1={I1(Q1+I3)+M3M5)}

××


2. After the termination of high level at Q3 output the contact of M3 auxiliary relay remains closed 5.6sec! 

[image: image2]
3. Fulfill the following Boolean function! Each rising edge of F1 replace the state of M5 auxiliary relay!


[image: image3.wmf]F1={Z4+I2M1}M2

××


4. Fulfill the following Boolean function!

[image: image4]
5. Implement the following six seconds time-period, 1:3 duty cycle blinking! Put the result MK auxiliary relay! (2 point)


[image: image5]
6. I1 is the sensed passing crates. Z1 reset the counter. The Q4 lamp indicates if number of passing crates higher as 7! (2 point)
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